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The structure words which are limited in number belong to the _________.

content words closed classes function words open classes
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1. 2. 3. 4.

A metaphysical statement conveys no information, for its terms are not defined by reference to

anything outside itself. 
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1. 2. 3. 4.

This was a sharp break with the theological view of life which had been transmited into the

conception of natural law. 
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1. 2. 3. 4.

It was not so much a weakness in pure theory as a change in the political climate, that brought the

region of the classics to an end. 
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1. 2. 3. 4.

A more thoroughgoing answer to the egalitarian moral of utility was later offered by Pareto. 
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1. 2. 3. 4.

He eventually succeeded to enter the parliament by window dressing. 
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1. 2. 3. 4.
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Despite their often brilliant insights, the British philosophers did not formulate a coherent body of

logical economic analysis. 
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1. 2.

3. 4.

Since the wage is at subsistence level and cannot be cut, the rate of profit falls. 
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1. 2.

3. 4.

In the meantime, the interests that he was defending were falling out of fashion. 
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1. 2.

3. 4.

The price of this output is a matter of indifference. 
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1. 2.

3. 4.

The resources available to produce goods are limited, so that the goods themselves are  scarce. 

G���� ��<�� $�(��/ T�%�� ��

14-

1. 2. 3. 4.

The equilibrium in the market should be maintained.
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1. 2.

3. 4.

The output of primary products tends to be inelastic which means that it does not change very

much in response to changes in price. 
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1. 2. 3. 4.

The commodities ought to exchange at prices corresponding to the labour time embodied in

them. 
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1. 2. 3. 4.

The prices of different goods and services change in very diverse ways over time. 
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1. 2. 3. 4.
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The government is forced to take disinflationary measures. 

�.��� Z[&� �� 9��� $�M�� �.��� 	\��� @.�4 ]#� 9��� H/� B < ��

�4� "��) 9��� H/� B < �� @�����A� ���

 �I���� �� 9���

19-

1. 2.

3. 4.

The complaint about rising prices and balance of payments crises is amply justified. 
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1. 2.

3. 4.

Pollution may actually have increased at a faster rate. 
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1. 2. 3. 4.

Such plant and machinary is to be installed and effectively operated in that factory by the

employers. 
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1. 2.

3. 4.

They hop between jobs in an economy where both the labour force and the jobs on offer are

continually changing. 
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1. 2. 3. 4.

Whatever the precise mixture or reasons, the fact is that high unemployment has persisted in

parts of the north and west. 
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1. 2. 3. 4.

The union of two firms at the same production stage in the same industry is refered to as 

horizontal merging.
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1. 2. 3. 4.

His immediate concern was with the question of post-war reconstruction. 
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1. 2. 3. 4.

The price of oil tripled between 1973 and 1974.

increased six times increased three times

decreased three times decreased six times
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1. 2.

3. 4.

In a nutshell, most economists agree that excess demand has also played a part. 
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1. 2. 3. 4.
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However. in a democracy economists have no monopoly on pure value judgements merely

because thay happen to be economists. 
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1. 2. 3. 4.

The EEC countries happened to notice that they had surpluses. 
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1. 2.

3. 4.
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